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Multiplication (Vertical) Name:
Solve each problem. Answers
H 7,782 2 9,193 3 8,441 4 2106 .
X 8 X 8 X 7 X 9 '
2.
3.
4.
5 6,413 6) 8,327 ) 5,602 8 6,512 i
X 3 X 5 X o X 4 '
6.
7.
8.
9 3,330 100 1,644 1) 7,437 12) 9,444 .
X 9 X 4 X 8 X 3 '
10.
11.
12.
13 3,323 14) 6,315 15 5,347 16) 4,015 .
X 2 X 9 X 5 X 7 '
14,
15.
16.
1) 6,049 18) 3651 19 9,736 200 8,020 .
X 8 X 8 X 5 X 3 '
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1 2 3 4
) 7,782 ) 9,193 ) 8,441 ) 2,106 . 62256
X 8 X 8 X 7 X 9
62,256 73,544 59,087 18,954 , 73544
3 59,087
s 18,954
5 6 7 8
) 6,413 ) 8,327 ) 5,602 ) 6,512 . 19239
X 3 X 5 X 9 X 4
19,239 41,635 50,418 26,048 6. 41,635
;. 50,418
s 26,048
9 10 11 12
) 3,330 ) 1,644 ) 7,437 ) 9,444 . 29.970
X o X 4 X 8 X 3
29,970 6,576 59,496 28,332 0. 6,576
1. 59,496
1 28,332
13 14 15 16
) 3,323 ) 6,315 ) 5,347 ) 4,015 s 6,646
X 2 X 9 X 5 X 7
6,646 56,835 26,735 28,105 1 56,835
5. 26,735
6. 28,105
17 18 19 20
) 6,049 ) 3,651 ) 9,736 ) 8,020 o 48397
X 8 X 8 X 5 X 3
48,392 29,208 48,680 24,060 18 29,208
0. 48,680
o0, 24,060
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